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Pascal / FORTRAN /C/ C++

FORTRAN /C/ C++

Perl / Ruby / PHP

Visual C++
Visual Studio .NET
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Lisp / Prolog
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x=(a+b) / (c-d/ (a+2))
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Int 1, sum=0;
for( : : )

sum += a[l];
printf("%\n", sum;
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#1 ncl ude <stdi o. h>

Int main(int argc, char *argv[]){
printf("Hello World!'\n");
return O;
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CS&E
1: #include <stdio. h>
2: 1nt main(int argc, char *argv[]){
3: printf("Hello Wrld!'\n");
4 return O;
SHE
185

« JAY S LZEROILTEH=HDELD
« RERDTOT S LICENTIZESAL
« LALEIDEICESTIITATSLD—HICRAS




BREY70M7075 4
AALE7OI95 4

#i ncl ude <stdi o. h>

Int main(int argc, char *argv[]){
printf("Hello Wrld!'\n");
return O;

}

#1 ncl de (stdio.h)

Int main(int argc, char *argv[]){
prinf("Hello World!'\n);
return O
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1. #include <stdio. h>
2: int main(int argc, char *argv[]){
3: printf("Hello Wrld!'\n");
4. return O;
5: }
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#1 ncl de (stdio.h)
///Pht mai n(int argc, char *argv[]){
ol  wprinf("Hello Wrld!\n);
ANNZA return O \
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#i ncl de (stdio.h)

/nt mai n(int argc, char *argv[]){
 _yprinf("Hello Wrldl'\n);

Z/\JI&T return O \
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CS:L: #i ncl ude <stdi o. h>
Int main(int argc, char *argv[]){
printf("Hello World!'\n");

return O;

}

Pascal: program hel | o( i nput, output);
begi n

witeln('Hello Wrld!'');
end.
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